CLASS: 12th (Sr. Secondary) CODE: C

Roll No:
PHYSICAL EDUCATION
[Hindi and English Medium]
ACADEMIC
[Time allowed: 3 hours] [Maximum Marks: 60]
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GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.

*Question no. 22 to 27 are Short answer type questions (with internal choice
In question no. 22 and 23) carrying 3 marks each.

*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.
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SECTION - A

(Objective Type Questions)

UY-1. 9 dIH & TP T gtde § fvaq A @ 9T 2
(@) 34 @) 36
(@) 35 (| 37

How many matches will be played in a league tournament of 9 teams.
a) 34 b) 35
c) 36 d) 37

Y 2. TTH A PIAT J&H NIUH ded § 2
®) PRI WEIEE]

(@) faerfiq (d) a9

Which of these is a micro nutrient?

a) Carbohydrates b) Vitamins

c) Protein d) Fats

Y 3. §70 A BT R} 9 0 Hiex e e # ImfAa 81 § 2
%) AfsRA aage @M 600 HeX Gl

@) o151 3 @) WS s o

Barrow Motor Three Items Fitness test does not include:
a) Medicine ball put b) ZIG-ZAG run
b) 600-meter race d) Standing broad jump

Uy 4. A YR & AAfddcd arat AT 3BT I§T IS HId @ ?
®) i M SHggE!
@) Sfedu @) ST PIS T

Which type of personality people like to live alone?

a) Introvert b) Extrovert c.) Ambivert d) None of the above

s 5 Wi Ame fwfa g s awfia g 2
®) Uell M) g B Tl

@ W (@) T

Scoliosis deformity is related to?
a) claw b) foot

b) spinal cord d) hand
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Y 6. gvvr a1 fpa W AR wrar g 2
®) Idg P UHR M) (@) IUT (@) &l
@) g BT Ty OEREEEIERG]

Force of Friction depends on
a) Type of surface b) Material of the surface
c) Both (a) and d) None of the above

Y 7 (o ) gt o Aol 8l & |

(ceeieenennn ) tournaments are the most challenging.

UY 8. IPETAIY 6T AT (e, )BT & |

Meaning of Ustra in Ustrasana is (............. )

UY-10. YTSIISS UMY & T Bl S & fore fo @fast aqur &1
GHW?IT% ? Which salt is essential for the functioning of the thyroid gland ?

UY -11. fa faerfaq &t &t A Wi IR AT @ 2

Deficiency of which vitamin causes the disease called Scurvy?

Y -12. HR1EE 9, 59 @9 9 9wita 87

Mirabai Chanu is related to which sport?

(MfUB YT/ PRUT (ASSERTION/ REASONING)

@ Y RETT T 1| TP &1 AfUFUA (A ) 3R IR &I FRUT (R ) & FU
ﬁE‘II‘hTTI'QT% | '\‘lﬁﬂiﬂqﬂﬁt‘ | There are two statements which are stated

below and labelled as Assertion (A) and Reasoning (R). Choose the correct
answer.

Y -13 ATUFYT (A) -CWSN & d=l H $& d<dl Bl 3 SRRl o JiY-I1Y
IRy srRed R Bt 8

PRI (R) - T A& -HTHTS , FAATED T HIGTHD $© U 81 Tohei ¢ |
el fawea g4 |
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31 fYHYF (A) T&t & dfbd SR (R) Tad g |

) 3MNDHYT (A) TAd § AT SRUT(R) 81 6 |

) (A) 3R (R) HI G818 3R (R) ; (A) ! Tg! AT HRATR |

3 (A) 3R (R) S GET & b (R) ; (A) P e} SATe e bl |

(A) ASSERTION: Some children among CWSN have special needs along
with common needs.

(R) REASON: These needs can be linguistic, cognitive and emotional .
Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Uy -14 AFHHYT (A) ~HgIA TP oraum AP dlc g |
PR (R) - AU TH FoR IS A g |

'ﬂé’rﬁmiﬁl

&D&WWW(A)H%"T g AP BRU(R) TdR |

) 3By (A) Tad & dAfPT BRUI(R) eI 2 |

) (A) AR (R) ST TGI8 3R (R) ; (A) o HGT SIRSAT HRATE |

@) (A) 3R (R) 1 TET 8 fh (R) ; (A) T e ST LT bl |

Q14. ASSERTION (A): Contusion is a soft tissue injury.
REASON (R) : Fracture is a hard tissue injury.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Y -15 UFHBYT (A) — i -, 3 Tt fapfa 8
PRI (R) -l AT H g 3T H THAd §
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31N —

31 fYHYF (A) T&t & dfbd SR (R) Tad g |

) 3fBYT (A) Tad & AfPd BRUI(R) I B |

) (A) 3R (R) T TET & 3R (R) ; (A) B UL AT HAT§ |
) (A) 3R (R) THI Gel € Al (R) ; (A) ) TE oo Tt el |

Q. 15 (A) ASSERTION: Knock-knees is a postural deformity.
(R) REASON: Both knees collide with each other in knock-knees.

Ans: Select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Section — B
(2 Marks Each)

UY -16. IS & Big &l a1y ferf@u |

Explain any two benefits of Vajrasana. (1+1)
(OR) (3fYdn)
IETER YN DI Jeradl A iftean xfed &1 ufvuTia Hifre | Define

maximum strength with the help of example. (1+1)

UY -17. A 3R 3Midie IR0 &Y gRHTfd 3 |

Define psychology and intrinsic motivation. (1+1)
(OR) (31Yd)
3ITH-HTH UR TP Afered fequolt #9 Write a short note on Self-Esteem.

Y -18 TEATH YU Hg T 3 Wl § 39D D15 &I SUANT fAfAT | What is

Centre of gravity, write it's any two uses in sports.

Y -19 SSTRRT 3R TIHCTRRT I 3ITY T A & ? What do you mean

by Intramurals and Extramurals? (1+1)

UH -20 ﬁ?@ﬂﬂéﬁﬁﬁaﬁmﬁaﬂﬁ P | Explain the procedure

for doing sit and reach test

Uy -21 W SATRWLET 3R WIS frys & 3Ty a1 A § 2 What do you

mean by Food Intolerance and food myths (1+1)
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Section - C
(3 Marks Each)

Y 22. Wd YRR ¥ afgaraii & Ara= o= arell Jarsil & Gaas - |

Enlist the problems faced by women in sports participation)

(OR) (S1UdT)
T TR Rrpfr 3 Gtag SR o et TR F werr fara)

Enlist postural deformities along with any of the four with symptoms. (1+(1/2 x

4))
UH 23. ﬁmmmﬁwﬁaﬁqﬁ| Explain Paralympic

Movement in Detail .

(OR) (31Yd)
3MER & NP 3R W - GIUP UcH! B H&Y H AT | Explain Nutritive

and non-nutritive components of diet in brief

UY -24 (B.M.1.) q 3MUHT T ATHYTT 8 2 75 fHeum g+ 38R 170
@zﬂtﬁammﬁwﬁraﬂ (B.M.1.) @1 IUTFT BISTT | What do you mean

by B.M.1.? Calculate the BMI of a person with mass of 75 Kgs and height 170
cms

Y 25 YTHTY @ ) &1 G&Y H GHas B9 |

Enlist common sports injuries in brief. (1+1+1)

Y 26 faxiy g ar ara s=1 (CWSN) & fore Rie fafaftal & uiw
(S]] ﬁ’l‘@t{ | List down any five advantages of physical activities for CWSN.

Y 27 HITTY B AP & ¢ START fHT = aret fH=gt i Sma=l &1 &=t
§1¢ Gﬁ?W%E’fﬁﬁT‘l{ﬁlﬁ List down any three asanas used for

preventing Obesity and write two benefits of each. (1+1+1)
Section—-D
(5 Marks Each)

Uy 28. FTPRER I 3TUSHT RIT MUY 82 TP - IS YR TR 23 Y B1

ﬁﬁlﬁl’\'ﬁ'ﬂﬂaﬂﬁﬂ | What do you mean by fixture? Prepare fixture for 23
teams on knock-out basis.
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(OR) (31¥dT)

HEg & $RUI , A&IUT 3R IUER fera) | write causes, symptoms and
treatment of Sprain.

WY 29 ST & ATk TTHIT DI Geilag B 3R IS | Enlist and

explain Jung’s classification of personality.

(OR) (SfYdT)
SUT ISIEIUN & 1Y Wal J e & fHul & i &t SRS Sy |

With suitable examples explain the application of Newton's law in sports.

UY-30 Wi & gRHIYT Y 3R 5 fasfya $31 aret adie! &1 9ui4
PIfeT |

Define strength and explain methods to develop strength. (2+3)

(OR) (S14dT)
fafir @@ ulRneror =i &1 9uia IO | Explain various sports training

cycles.
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